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I "1 mwn: the "%y — which is Dw1p W7
a  Note: need for “ID” as 1"pTp — because it’s never called that in the n7n (unlike MM DYR ,NRVN)
b 7537 Avnw. in the north, in a nv *Y)
c o771 2, which are 4
i Method: disputed
1  a7stands at corner (NW, then SE) and throws on each side
2 Sxmpw stands at corner and throws “around the corner”, like a I' (gamma)
3 Follows o’Nin nj15n: commenting on 1 (v. 1)
(a) We might have thought: it requires only one np» 1 — therefore, it states 2710
(i) However: it requires separate spills — as opposed to a ring of o7 around the nam
1. Solution: 2/4 — spreading on both sides of two corners, in shape of I'
2. 5xypw 7. 1av in v. 2 informs — just as NRYN requires four separate Mnn, so too N7Y
a.  However: n9y requires o’ (must begin above a 11v°) —no v’ on SE wall (see [II] below)
i.  Reason: 110 must be in 1n72’s territory and SE corner is in nTn”’s (vv. 3, 9)
b.  Challenge: ;9 n%y, done in SE corner - is done where there is no 1!
i.  Answer: that was the condition made between tribes — airspace belongs to yn”2a
c.  Therefore: 2 corners, with separate n1nn on each side of the corner (NE/SW)
d  p77ax must be flayed and sectioned — and completely burned up
II  Discussion about Mo’ and SE wall
a  Meaning of 7107 75 px: (dispute revolves around interpretation/omin of v. 3)
i 37.no mw built there (structure of nam is assymetrical) - “in his territory the nam is built’
ii 72 not used for blood (but structure is symmetrical) — “in his territory the w1pn (007> W1MpN DIPN) is built’
1 Challenge (to 75): T “eats up” 1 nnk on S and 1 nnk on E sides
(a) Answer: that is what is used for D07
2 Challenge (to 27): natn was 32 MnR square
(a) Answer: that is from the north side
3 Challenge (to 27): w313 would over-pass 1 nnR of the 12170 and 1 of the T
(a) Answer: solution (there) just describes where v’ would have been
4 Support (for 715): description of process of building nam begins with frame, 32x32x1, then build up - fill with
rocks, then bring frame of 30x30x5 etc. = frame was symmetrical and 1 nnR out on each side (110?)
(a) Defense: although they could not have hewn the stones afterwards, they could have placed wood at that
spot and then removed it after everything was set
(i) Support: that must be how they built the m9p so that they would be hollow (per v. 4)
b Concluding 7w770f 837: describing T17’s search for the “highest place” for w1pn (vv. 5-9)
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